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CALCULATIONS

Show the calculations for Trial 1 in the spaces provided below. Record the results of the calcula-
tions for all trials in the table.

1. Calculate the weight of the wooden block from its mass. Record this weight as Fy.

2. Using the data in the data tables and the vector methods described in Section 4.5 of the text
calculate F,, Fy, and F, for Trials 1-3.
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[image: image2.jpg]3. Using the equation in Section 4.7 of the text, calculate the coetficient of shiding Iriction for
Trials 1-3.

4. For Trials 4-9 calculate the weight of the mass attached to the string and record as F,. Then
calculate the coefficient of sliding friction.

5. Plot a graph for Trials 4-9 using the values of F; as abscissas and the values of Fy as ordi-
nates.

QUESTIONS

1. Does the coefficient of sliding friction depend on the area that is in contact? Verify your an-
swer from your data and calculations.

2. Why is the wooden block started with a slight push in the procedure for finding the coeffi-
cient of sliding friction?

%

3. What is the relationship between the shape.of the graph and the coefficient of sliding fric-
tion?

4. How do the values of u for Trials 1-3 compare with the values for Trials 4-9?
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